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QUESTION 1

Node A has taken over Node B. You solved the issue that caused the takeover and are now ready to resume normal
operation.

After initiating the storage failover giveback command, how are the aggregates given back? (Choose the best answer.)
A. CFO aggregates are automatically given back, SFO aggregates must be manually given back.

B. CFO aggregates and SFO aggregates are automatically given back.

C. The root aggregate is automatically given back, CFO and SFO aggregates must be manually given back.

D. SFO aggregates are automatically given back, CFO aggregates must be manually given back.

Correct Answer: B

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-cmpr-960%
2Fstorage__failover__giveback.html

QUESTION 2

Your company requires that all data must be encrypted in flight to prevent data from falling into the wrong hands.
What are two ways to accomplish this task? (Choose two.)

A. Ensure that SnapMirror compression is enabled in all ShapMirror relationships.

B. Modify your cluster peering relationships to support cluster peering encryption.

C. Enable Multi-Factor Authentication (MFA) for your SnapMirror relationships.

D. Ensure that all intercluster replication traffic is done through a VPN tunnel.

Correct Answer: BC

QUESTION 3

Click the Exhibit button.
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FC Ports

Node 2a 2b 2c 2d
ABOOD_1 s — — e
32 Gbis 32 Gbls 32 Gbis 32 Gbis
WWPN 50:0a:09:81:80:71:50:b2 50:0a:09:82:80:71:50:b2 50:0a:09:83:80:71:50:b2 50:0a:09:84:80:71:50:b2
Network Interface 6 2 1 0
Data Link Rate 32 Gbis 32 Gbls 32 Gbis 32 Gbls
Port Address a0000 a0100 a0200 a0300
Protocol FC, NVMe FC, NVMe FC, NVMe FC, NVMe

A customer has an issue with performance on an NVMe solution. The SVM is using all four ports shown in the exhibit.
In this scenario, how would the customer improve the host performance? (Choose the best answer.)

A. Change the SFP+ in the controllers from 32 Gbps to 64 Gbps.

B. Move all of the network interfaces to port 2a.

C. Move some of the network interfaces from 2a to 2c and 2d.

D. Remove support of the FC protocol and only use NVMe.

Correct Answer: A

QUESTION 4

Which two SVM types does a cluster contain after cluster creation? (Choose two.)
A. dp-destination

B. peer

C. data

D. admin

Correct Answer: CD

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
sag%2FGUIDD860985F-11BF-4589-9457-E0FD03130B1F.html

QUESTION 5

You are the administrator of your company\\'s ONTAP 9.7 storage system. Your system hosted CIFS shares in your
Active Directory environment for several years without any problems. Suddenly users report to you that they can no
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longer access their CIFS shares.

What is the reason for this problem? (Choose the best answer.)

A. The CIFS standard license expired.

B. The user account used to join your SMB server to your Active Directory expired.
C. The WINS servers are unreachable.

D. The NTP servers are unreachable.

Correct Answer: D
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